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JERRH R X 1 147, 503, 927
HEELT = 1 48, 348, 371
BEARRE AT = 1 34, 458, 244 | BR{A (L) R+ 60 m3
2. 5mPL 4. OmARTi ;
BRI (Bite) R+ 2,700 m3
4. 0mPL E
BRI (Bite) R+ 3, 500 m3
)
4. 0mPL E
b 3,910 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 3, 900 m3
+1 850, 000m3AT ;
R Zp s 800 m3
Fefi KL+ ;
R Zp s 700 m3
REK M
BRE LT = 1 13,890, 127 | RE 1 540 m3
4. 0mPL E
R Zp s 240 m3
Fefi KL+ ;
R Zp s 290 m3
WEK A
We L BG A4 (42imm) 3% 2,710 m2
FAHER VATV R AREAT t=3. Omm 300g/m2 ;
BERLTT = 1 34, 389, 549
REE T = 1 34,389,549 | KJUIRARREK LT 871 m3
3-10
Xk 3 N
kY (H8H) H350 X 350 L=4. Om ;
XAk 1 A
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2k (H8H) H350 X 350 L=0. bm ;
Bh7k b 727 m2
EVA+AR AT /0. 8+3mm ;
JEAY—h 830 m2
R LY 2 =b t=1mm ;
ForErt 1,070 m2
$3.2X100X100 Fy*4LE (HDZ354H ) ;
FCB7" 7V MELSE - fif {4 1 X
s 1 X
BER Yy MLEE
EEET = 1 22,377,964
e+ T 2 1 47,962 |FRYEY 1 X
+4)
HEL 1 X
ST FT R 1T 2 1 247,924 | FEREAS 7 m2
I T9vv7740~0 BIE 0. 2m ;
ay))=h 5 m3
18-8-40 (FBJF) —a8AE av)) - MBI 4
A 1 X
— e
s 1 X
BER Yy MLEE
7" VA MAERE T = 1 19, 862,902 |7° VEyAMgERE 107 m
1.Om%Z 2.2, OmLA T
7" VR A NgREE 10 m
OKEER 9IR)
1.Om%Z 2.2, OmLA T
JECRR V7)) 60 m3
24-12-25(20) (F4F) ;
i Eifavy)-p 8 m3
24-8-25(20) (B¥F) ;
TR OEET = 2,219,176 | HEADEE 21 m2
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-7 my)FE (3R T = 1, 056, 953
EELT = 27,647 |FRHED 1 X
+4)
HEL 1 X
VAR VARV RN EVZA I VAR PYZ ) = 1,029,306 |BLBFTEREL Y-} 12 m
18-8-40 (75 47) JEIE 52cm & 30cm ;
avy )= (1) 77 ny )i 29 m2
$£35+10cm ;
JA - BEARE () 6 m3
FARA RC40 ;
LA 2 10, 853, 029
EELT = 5,151,816 |HRRE L 1 =
7 VR AN = T 2 5,701,213 |7 V¥4AME 974 22 m
WiE 2m NE 2m ;
HEKHEEY T = 3,361, 301
T = 3,245,011 |7 VoA NUTRIHE 21 m
(P 2R
300X 300 ;
7" Vv A NUBRMAITE: 85 m
(P 2R
500X 600 ;
NS 42 e
(P 2R
300 41.2%9.5%X50 ;
NS 171 e
(P 2R
500 62.2X12.5X50 ;
SRR <) L X 116,290 | BT HAEKHE 1 (£
BUGHTAT 18-8-25 (BrhF) L ESEAH 1E 1% (600
X 600 X 1000) :
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= 1 r5e
U v=F77)
600X 600/ T-25 W H 48K VMEE ;
e 1 1l
619 W=300 ;
Bh AT L 2 1 149, 400
PEANIBA AT L 2 1 149, 400 |5 =} V=W 10 m
WAL, Gr-C-2B 21maANif iR A 15 4
s ALER T = 1 3, 209, 800
S BSLERVEZE T =X 1 3,209, 800 |InAfESE 1 =X
HEE L = 1 2,237,129
SR L = 1 176,871 | B (0" =1 v-) 1 A
EELT = 1 4,168 | KR FEAD 1 X
+4)
e LT it 1 1,306, 715 |37 )Ml B L 55 m3
A EY) BhkE T
EhAERR G 1 X
TAT 7V MEHEERR 15emPA T
EhAE AR AR 1,150 m2
TA77 VMRS BEERE 10cm
TR AL T = 1 749, 375 | kiEWR 55 m3
vy )= hik (BEAR)
o 1 115 m3
TAT 7V
By 55 m3
vy )= hik (BEAR)
By 115 m3
TAT 7V
L5y 7 t
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AET-HI

sy 8 t
AET-H2

Gy 2 t
ALT-H3 ;

I = 1 21, 520, 431
B - (s L = 1 3,340, 171 | & 5 t

RRIE -

1A 19. 4 t
P

B 30 19.4 t
i G

TR RAR 4 t
RRIE -

P UAGER 1 - 12 TG - A ] 144 m2
RRIE

P UAGER 1 - s UG - RO ] 144 m2
i G

% B AT 32 m
i G

% B AT 16 m
FHRRIE ;

HERAR 14 m2
22X 1,524 X3, 048 (mm) R - ;

R T S 1 16,974, 130 | At Y 1 A

+4)

HEL X

HERHL 2 N
H300 HEAER & (BiFE) 8.5m HERFFTIAE 5.6
m IR 0.5m ;

HERHL 2 N
1400 HEAER & WTE) 11m HEREHFHAR 9.7
m KFEIWRE 1. 3m ;
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HERHL 2 N
H400 HEfiR & (BUE) 12m HESERBITIAR 10.5
m FHIEE 1.5m ;
HERHL 2 N
H400 HEAFR & (i) 12.5m HEAEHFTIAR 11
lm PrEIErRE 1.4m
HERHL 2 N
(FEH L6miE 2)
1400 HEAER & WTE) 13m HEAEHTAR 6.8
m FHIWErE 6.2m ;
HERHL 2 N
(FEH L6miE 2)
1400 HEAER & (WTE) 14m HEAEHFTAR 6.6
m FYIEE 7.4m ;
s 1 X
KORRES ;
UG- Mk L 15.7 t
RRIE -
ER 5 m2
AR t=0.05m ;
FRFRAR 139 m2
SR SS400 t=0.005m ;
K T = 1 1,025, 770 |2y = 47 1 =
777" #L ¢ 1000 ;
AR IEE BT 2 1 180, 360 | A% M B 1 =
[ERCANE =y 2 1 147, 503, 927
HiE X 1 24, 065, 380
Im iR Ex % = 1 5, 148, 380
TEE X 1 3,513,380 | B AR AAR A T S B 1 X
A EXAA S 1 =X
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HeffrE sy = 291,000 | HUELFHA 2 1 =

Fef7JR Tk E B ELE 1 F2V

TREN L LB S A B A 1 =
BGRESGESE (5 L) = 1, 344, 000
B (FEEHL) = 18,917, 000
Wi TR = 171, 569, 307
Bl g = 63, 222, 000
T =5l = 234, 791, 307
— R A = 35, 958, 693
TS = 270, 750, 000
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